3PNy Jamoqg

‘ M H Mega Bore 3-Jaw High-Speed Open Center Chuck

Application / Benefits
For work requiring a large through-hole

Technical features
Wedge hook style chuck with high gripping force

ACTUAL GRIPPING FORCE DIAGRAM

MH-206 / MH-208 / MH-210 / MH-212 MH-218 / MH-221 / MH-224
= .
140 220
MH-212 s
10 200 - MH+224
110 16D
100 O MH=210 160
90— NN 140 L
80 MH-208 AN 120 N\ MHr218
z 70 N N % N\
~ 50 N \\ < 100 \ \ \
8 50 MH—206 g G MH-221
£ 40 . S 0
o 0 2 40
= g
£ o g
2 0 1000 2000 3000 4000 5000 6000 0 500 1000 1500 2000 6000
Speed : min™ (r.p.m.) Speed : min™ (r.p.m.)
SPECIFICATIONS
MH-206 MH-208 MH-210 MH-212 MH-218 MH-221 MH-224
Thru Hole Dia. [mm] 52 66 82 103 166.5 166.5 190
Grip Dia. Max [mm] 175 210 254 315 457 530 610
Grip Dia. Min. [mm] 16.5 23 30 54 73 105 120
Jaw Stroke Dia. [mm] 6.4 74 8.8 10.6 11.5 10.6 10.6
Plunger Stroke [mm] 15 17.5 19 23 25 23 23
Max. Permissible Input Force [kN(kgf)] 24.7(2551) 36.4(3596) 49(4976) 55(5608) 71(7240) 90(9177) 90(9177)
Max. Static Gripping Force [kN(kgf)] 57.3(5847) 87(8872) 126.6(12848) 144(14686) 180(18355) 220(22460) 234(23861)
Max. r.p.m. [min™'] 6000 5000 4500 3000 2000 1700 1400
Weight [kg] 119 23 32 553 170 228 293
Moment of inertia [N - m’(kg - m?)] 2.26(0.23) 5.6(0.57) 12.37(1.26) 28.93(2.95) 174.6(17.8) 342.1(34.7) 651(66.4)
. . SH-15052 SH-17068
Operating Cylinder (SYH-1552) (SYH-1768) SH-19082 SH-21010 SYHL-2816 SYHL-2816 SHL-39024
Max. Hy Pressure [MPa(kgf, 1.78(18.1) 2.34(23.9) 2.74(28) 2.65(27.2) 3.07(32) 2.86(29.1) 1.57(16.1)
Operating Hard Jaw HBO6A1 HBO8A1 HB10A1 HB12N1 HB15A1 HB18B2 HB18B2

% Specifications are subject to change without notice.
% Samcully Machinery Co, Ltd. is no longer an OEM manufacturer for Kitagawa® Iron Works Co,, Ltd.



DIMENSIONS

Thru Hole Range :
Clamping Range : @ 16.5~ @610

@52~@190

OC(He)

e

I SERRATION PITCH 1.5 "
U
A
A 5
PE o
@ @/< NN
s
§
L E-—lla
% Itis recommended to grease chucks at least twice a day in order to maximize longevity.
MH-206 MH-208 MH-210 MH-212 MH-218 MH-221 MH-224
175 210 254 315 457 530 610
81 91 100 110 135 140 149
140 170 220 300 380 380 380
104.8 1334 1714 235 300.2 330.2 330.2
5 5 5 6 6 6 6
52 66 82 103 166.5 166.5 190
14 75 85 8 8 11 20
-1 -10 -10.5 -15 -23 -12 -3
17.5 27 25 28 50 39 40.5
20 30 52 825 107 80 80
M60x2.0 M75x2.0 M90x2.0 M116x2.0 M175x3.0 M180x3.0 M200x3.0
3-M10x95 6-M12x115 6-M16x120 6-M20x130 6-M20x130 6-M22x140 6-M22x150
33 39 43 51 69 73 73
72 95 110 111 165 180 180
20 25 30 30 50 60 60
38 45.7 54.5 67.3 102 111.75 119.5
348 42 50.1 62 96.25 106.5 114.2
21.75 23.75 32.25 45.75 58.25 725 105.5
10.25 11.75 14.25 15.75 20.25 215 215
31 35 40 49 69 65 65
12 14 16 21 22 25 25
2 2 2 2 5 5 5
65 80 101 124 186 197 210

e

W

¥ Blank and machined draw-nuts are available.

RELATED PRODUCT O I @]
Adaptor H/S Jaw Cylinder

250p 106p

256p



S81I0SS820Y

SOft J AW\ Power Chuck Soft Jaw

Application / Benefits
Works with HC.

- (G () et

T
%)

A

S-6, §-7 S-8

=5

& LN-g F 3 S-9| - | i
Fig. 2 2 - ro 9 % S ®
l w .
L i ik S-10
3 51 - ' i
S-12 S-15 - S-4
S-6 , S-7 ,S-8, S13

[ T — ‘

1 LMY L& - ‘ ‘ s-9 ‘
Fig. 3 @@@ & a || ‘ - " | X
y AL L e %

:

Y

X See the product dimension Table on the right.

256 |3EZsE=5Rts




DIMENSIONS

wv
[¢]
=
=3
o

wv
w

T

©w
IS

kS
&

n
N

Corresponding

=
o
=
o
=]

I

S-11

I

l

Corresponding

SB04C1 SBO5N1 SB06B1 SB08B1 SB10B1 SB12A1 SB12N1 SB15C1
2 2 2 2 2 1 1 1
1.5x60° 1.5x60° 1.5x60° 1.5x60° 1.5x60° 1.5x60° 1.5x60° 1.5x60°
48 54 72 95 110 129 111 165
19 23 31 35 40 50 50 62
23 25 32 38 42 50 50 66
8 10 12 14 16 18 21 22
3 4 5 5 5 5 4 8
8 12 15 24 30 39 21 37
15 14 20 25 30 30 30 43
25 28 37 46 50 60 60 85
11 135 17 19 19 23 25 32
7 8.5 11 13 13 15 17 21
15 16.5 20 23 27 30 33 42
M6x16 M8x20 M10x30 M12x35 M12x35 M14x45 M16x40 M20x60
6 5 12 12 15 - - -

- - - - 20 - - -
oo | wsmcoues | [EIOUCI | HOUICHS O |y | R | s
SB15N1 SB15A2 SB18A2 SB32B2 SB32GB SB32SB2 SB40GB SB40SB2
1 1 1 1 3 1 3 1
1.5x60° 3.0x60° 3.0x60° 3.0x60° - 3.0x60° - 3.0x60°
135 165 180 160 165 185 270 270
50 62 65 75 75 75 110 110
60 66 70 75 83 75 117 110
255 22 25 255 12.7 25.5 30 30
5 8 9 7 13 7.5 13 75
26 30 40 25 21.9 26.8 48.8 325
43 50 60 38 76.2 38.1 76.2 60
66 85 80 97 - 82 76.2 -
32 32 32 32 32 32 39 39
21 21 21 22 22 22 26 26
39 42 45 54 59 57 90 920
M20x55 M20x60 M20x60 M20 M20 M20 M24 M24
- - - - - 82 68.8 1175
- - - - 19.025 - 19.025 -

- - - - - - - 85
HC/HCH-21, )

SAMCHULLY

ACCESSORIES

257

n
.0
=
o
a
a
[
o
[*]
<




S81I0SS820Y

‘ H a rd J aW Power Chuck Hard Jaw

Application / Benefits

Works with HC.
- H-1 )
T [h-6,H-8 L HZZ
T |
- Bi{ddart: & Tf 1? ;
L HRGOOHT il :
H-7 | H-7 H-10—1]
\ H-12
i SERRATION
H-4
LIS H-2
H-6 |, H-8 r——‘
- [
T
Fig. 2 |/\\/\M/\\**? = |39 0
: NNy ) L 3= *
t J
H-7 | H-7 H-10—H| o :
H-9 \SERRATION a
H-4
H-6 i H-8 b2
- I 3
: = | s Hig 3 =
Fo. 3 ] 3 nl oy . 2 z
!r’ | [ f:
H-12 I—:I.l A 1
19.025) i
H7 | H7 f H-A4 H’;
H-13

X See the product dimension Table on the right.



DIMENSIONS

HBO4N1 HBO6A1 HBO8A1 HB10A1 HB12B1 HB12N1 HB15A1 HB15A2
2 1 1 1 2 2 1 1
1.5x60° 1.5x60° 1.5x60° 1.5x60° 1.5x60° 1.5x60° 1.5x60° 3.0x60°
53 67 86 99.5 97.5 103 149 149
23 31 35 40 50 50 62 62
27.5 41 51 54 55 52 86 86
10 12 14 16 18 21 22 22
4 5 5 5 5 4 9 9
30.5 18 31 43 64.5 62.5 63 63
14 20 25 30 30 30 43 50
225 17 18 17 33 40.5 34 34
135 17 19 19 22 25 32 32
8.5 1 13 13 15 17 21 21
10 9 12 13 20 17 20 20
M8 M10 M12 M12 M14 M16 M20 M20
6 10 12 15 18 30 40 40
- 10 12 15 - - 40 40
HB15N1 HB18B2 HB32B2 HB32GB HB32SB2 HB40GB HB40SB2 -
1 2 2 3 2 3 2 -
1.5x60° 3.0x60° 3.0x60° - 3.0x60° - 3.0x60° -
149 159.5 150 150 168 223 223 -
62 80 70 70 70 80 80 -
86 90 75 83 75 124 117 -
25.5 25 25.5 25 25.5 30 30 -
5 9 7 13 75 15 8 -
69 104.5 66 66 89 133 133 -
43 50 76.2 38.1 38.1 38.1 1143 -
27 55 79 79 79 90 90 -
32 32 32 32 32 39 39 -
21 21 21 21 21 26 26 -
20 40 32 32 32 55 55 -
M20 M20 M20 M20 M20 M24 M24 -
43 55 - 79 - 83 - -
38 - - 12.7 - - - -
- - - 8 - 7 - -
I (crshcis | romaias | SO HCR R HCdGoon] HCddseration |
MH-221,224
AcoMente=T | 259

Accessories




T-N UT Power Chuck T-Nuts

Application / Benefits

S81I0SS820Y

Power Chuck T-Nut
PR el
45° lcf A =5 ‘VT‘-‘G
Fig. 1 s A
KJ\ 4
T-8
S el —
® o =5 1-6
- e
45 '/ ll— ‘
Fig. 2 Jan A |
U~ kJ‘) ‘
T-8
Fig. 3 E}

% See the product dimension Table on the right.

SAMCHULLY
ACCESSORIES

T-8

T-3
|




DIMENSIONS

TN-HCH-04 ..II-.I’:-_:SS-_(:; TN-HC-04 = TN-HC-05 | TN-HS-06 'ITI\II‘J- -I!I-ICC-I(-)I'G TN-HS-08 'I-'rl\’l\l ;II'ICC I(-)IIS TN-HS-10 'ITI\II‘J- -I!I-ICC- :Ib
1 1 1 1 1 1 1 1 1 1
245 26 28 32 36 36.5 46.5 48 51 55
11.5 15 15 15 17.5 17.5 20.5 20.5 225 225
13.5 15 18 18 18.5 225 20.5 255 215 255
8 10 10 10 12 12 14 14 16 16
15 14 14 19 20 20 25 25 30 30
45 6 7 6 8.25 75 10.5 11 11 11
9 9.5 125 125 1 15 12 16 13 16
M6 M8 M8 M8 M10 M10 M12 M12 M12 M12
5 5 5 6 8 6 12 8 11 8
HCH HS HC HC HS/MH/UR HCH/HC HS/MH/UR HCH/HC HS/MH/UR HCH/HC
Corresponding Type of Type of Type of Type of Type of Type of Type of Type of Type of Type of
4"Chuck | 4%5"Chuck | 4”Chuck 5”Chuck 6"Chuck 6" Chuck 8"Chuck 8" Chuck 10”Chuck 10”Chuck
TN-HS-12 -I'_I"‘ll\l- : CC- :I'z 1:—:2:1158’ -'II-";\JI:((:I:ZI TN-MH-218 Tr:))((:ccil' TN-HCH-32 TN-HC-32 TN-HC-40
1 1 2 1 2 3 3 3 3
55.5 555 80 80 80 46 35 37 42
295 26.5 335 35 335 375 35 375 425
27.75 335 455 49 455 45 39.5 47.5 49.5
21 18 24 255 24 25 255 255 30
30 30 43 43 50 26.5 25 - -
12 11.5 17 17 17 23 - - -
16.25 20 29 20 29 26 20.5 28.5 30.5
M16 M14 M20 M20 M20 M20 M20 M20 M24
13 12 1 1 16 - - - -
- - 22 - - - - -
N - 7.5 N - - B —
HS/MH HCH/HC HCH HC i
Corresponding Type of Type of Type of Type of MH-218 21,24(H), HCH-32 HC-32 HC-40
12"Chuck 12" Chuck 15%,18"Chuck | 5" 18" Chuck MH-221(H)

¥ TNX-HC-21-24, TNX-HC-32 require two T-nuts per jaw.

¥ TNX-HC-40 require three T-nuts per jaw.

—_

Important for maintenance and safe operation.

* Reduces maintenance & downtime

* Fortified with molybdenum disulfide (MoS2)
* Maximum extreme-pressure protection

* Exceptional adhesion & cohesion characteristics

* Excellent resistance to water washout & spray off

« Superior friction-reduction properties-protects against friction-related heat & wear

* Reduces operating temperatures

Samchully Grease

tem No: SW-20 * Extends equipment life.

Accessories

acessisnez] 261



S81I0SS820Y

‘ Ada ptor Plates Power Chuck Adaptor Plates

Application / Benefits
Power Chuck Adaptor Plates

B B B
=
s 99
S = &
3 > N~
S T l{) ~ }’ §
s Pl E=E
i
Ol _ o< o _ 0> < == _ _ o<
= o = = ASYIRSE Y Qe v =
= Tr
ac
3 o ]
B

Fig. 1 : Direct Type Fig. 2 : Indirect Type Fig. 3 : Plate Type

% See the product dimension Table on the right.

262 |FEZEE=5Rts



DIMENSIONS

Corresponding

APO6A05 A2-5 140 15 82.563 104.78 12 HS/HSL/HCH/HC/HCL-06, MH-206, UR-175

APT06A05 A2-5 140 15 82.563 104.78 12 HST/HCT/HCLT-06, MHT-206

AP08A06 A2-6 170 17 106375 | 13335 135 HS/HSL/HCH/HC/HCL-08, MH-208, UR-210

APT08A06 A2-6 170 17 106375 | 13335 135 HST/HCT/HCLT-08, MHT-208

APF08A06 A2-6 170 17 106375 | 13335 135 HSF/HCF/HCLF-08, MHF-208
AP10/12A08 A2-8 220 18 139719 | 17145 18 HS/HSL/HCH/HC/HCL-10,12, MH-210, UR-250
APT10/12A08 A2-8 220 18 139719 | 17145 17 HST/HCT/HCLT-10,12
APF10/12A08 A2-8 220 18 139719 | 17145 18 HSF-10,12, HCF/HCLF-12

AP212A08 A2-8 300 2 139.719 235 21 MH-212, UR-315

AP212A11 A2-11 300 2 196.87 235 21 MH-212

AP15A11 A2-11 300 2 196.87 235 21 HCH-15, HC-15,18

APT15A11 A2-11 300 2 196.87 235 21 HCHT-15

APF15A11 A2-11 300 2 196.87 235 21 HCHF-15, HCF-15,18

AP18A11 A2-11 380 2 196.87 235 21 HCH-18

APF18A11 A2-11 380 22 196.87 235 21 HCHF-18
AP21/24A15 A2-15 380 27 285.775 3302 24 HCH/HC-21,24, MH-221,224

Corresponding

APO8A05 A2-5 170 25 82.563 | 104.78 12 13335 | M12 : Cs(/HI-?g/L'II:;SI-lI:éII_-'FS-(L)Q-'I\i:; ncl-{Tl-/'%/-\rI{lE ggé;
AP10/12A06 A2-6 220 25 106375 13335 | 135 | 17145 | M16 HS{_E?.EE’S]FZ/’ l-|\|llsll|-—/ 213-:_1 ?FC//HHCCL-II;/— 1H 2C v
AP15A08 A2-8 300 33 | 139719 17145 18 235 M20 HCH/ HCHT/ HCHF-15, HC/HCF-15,18

AP218A15 A2-15 380 60 |285.775| 330.2 24 300 M20 MH-218
AP21/24A11 A2-11 380 27 196.87 | 235 21 330.2 M22 HCH/ HC-21,24MH-221,224
AP21/24A11 A2-11 380 42 196.87 | 235 22 330.2 M22 HCH/ HCHF/ HC/ HCF-21,24, MH-221,224
AP21/24A11 A2-11 380 42 196.87 | 235 22 330.2 M24 HC/HCF-32, HCH/HCHF/HC-21N,24N
AP21/24A15 A2-15 380 42 |285.775| 330.2 24 330.2 M22 HCH/ HC-21,24, MH-221,224
AP32A15 A2-15 380 42 |285.775| 330.2 26 330.2 M24 HC-32
AP32/40A11 A2-11 520 50 196.87 | 235 22 4636 | M24 HCH-32, HC-40, HC-50
AP32/40A15 A2-15 520 42 |285.775| 330.2 26 4636 | M24 HCH-32, HC-40, HC-50

Corresponding

AP06A06 A2-6 165 140 33 |106.375| 133.35 14 104.78 | M10 | HS/HSL/HCH/HC/ HCL-06, MH-206
HS/ HST/ HSF/ HSL/ HCH/ HC/ HCT/
AP08A08 A2-8 210 170 30 |139.719| 17145 18 13335 | M12 HCF/ HCL/ HCLT/ HCLF-08,

MH/ MHT/ MHF-208

Acersisn=s| 263

n
.0
=
o
a
a
[
o
[*]
<




52.5
SERRATION PITCH 1.5
| Lo
Lo
o
MAX MBO X 2.0 | e S
= o
~Ia T
—lo
1 oY)
0 N N ==
(@) ] T y o0 ==
: .
-
i il X!
©
T g;
=
= I S S N —
- = = = IS 1‘5\
MAX T4 17.5 —
MIN—1 |
L”
15 | —
(STROK
9 Q
/,
81 ,
3 M10 X 950 31 S5—M6 TAP #ol 10
352
12 H8/h8
At = m%
PLUNGER STROKE 15 mm — | — - — PP
UAW STROKE (2 &) | 6.4 mm 1 . — —
PLUNGER 3l2=2 | 2551 kof (24.7KN) N IJ Ll s F 214 53 /¢y EEN
Z 0oy 5,812 kgf (57.3KN) cu HH—-206—-WEB N
i RsEs 6,000 r.p.m. s 2}7*@ g m
SY(SOFT JAW 2&)| 11,5 kof 1 — L
G0’ ( ” ) | 023  kgfm? i 1:1[ 2 ¢ Z = r srma—w seATE.
2D 58T M 1,937
A& CYLINDER SYH1552
0l 43 e 18.1  kg/cri




MAX MT5 X P2.0

SERRATION PITCH 15

$210

PR |
==
ASS
] AT
e MAX T5 2/ %%
- MIN 10 =5
Il g = . - O | ]L
= s = s s [TEH
-
a | i
A'| | | 'é
f”fﬁ
=
i
il
I
L}Ju )
5
415 455
91
3

SPECIFICATION

PLUNGER STOKE 17.5 mm

JAW STOKE (X&) 7.4 mm
PLUNGER 5183 3,596 kof
0 mete 8,872 kgf
EREEES 5,000 r.p.m.

WEIGHT (SOFT JAW X&) 23 kgf

G.D? (SOFT JAW Z &) 0.57 kaf-m?

D8NS Mot 2957 kof
=g CYLINDER SH-17068
L3R AH 24 kg/cm’

{50

3-M6 TAP DEPTH 12,

B EEl - $8Y e

2 ® Z1% 53 /YA HEH

Ed HH-208-WEB AR

B o om
374

— =]

- SAMCHULL.Y
1.1 3 4= 8 7 amavm




9254

43

|
O
S )
MAX. MIOX2.( 1 i I
\ I,
— ™ O NN
: “" il
oo > |= <|=
+© <[§ ==
T
@) N
Ie L I |
S S =
MAX 8.5
MIN—10.5
n\
N
<
19
STROKH
}
%’"’% 17 e g %?
5 W
42 40 23 3—M8 TAP %ol 15
100
2—-M10 TAP ol ,Qé
Al 2k
PLUNGER STROKE 19 mm
JAW STROKE (®3d) | 88  mm
PLUNGER 512%8 4976 kof (49KN) - el - vag A8T
Z Cfmeb 12848kgf (126.6KN) . E_T]_ib. s2 %Qa 28X
eI E PSP 4500  r.p.m. c M HH-210-WEB A8H
= 2HSOFT JAW & 32 kgf L -] o 0N
GD” ( § ) | 1.26  kgfm’ quZtEI Nuntinz -
RERER T 4200  kgf iFs e T3 =g SAMCHUL LY
AHZ CYLINDER SH19082
30 23 R 28  kg/cmt




SERRATION PITCH 1.5

N &
| o
™
| 3-M4 TAP THRU'
| 1 e =
MAX M116X2.0 I_l 5
M SALTI ] < 0
‘ = Z
\, <=
L SN
= i
~ O
© € 3-M10 TAP DP'15
< Z -
2 <= &
o ©| < o
5 IS R =N
AS3 o ASS AS
o
o
48]
AS
MAX 8
MIN ~15 28
- @]
- T —
e e[}
6-M20x130L 23 o
(STROKE)%
Al
S N N —— E——— | ™
el Y S
L
44 6 50 e
110

SPECIFICATION
PLUNGER STOKE
JAW STOKE (& &)

23 mm
10.6 mm

PLUNGER ol EFH

5608kgf (55kN)

B

14686kaf (144kN)

EN I PSS 3500 r.p.m.
WEIGHT (SOFT JAW £) 55.3 kgf
G-D? (SOFT JAW £3) 0.848 kgf-m*
Z D 3NE Mt 6118 kgf
A& CYLINDER SH-21010
N E8 R 27.2 kg/cm’

e|lo]|n 2| wH-212 [e=e EE

= MH-212 WEB ERIZUASESSFYSE

- MH-212-WEB £ M Jl=2A

=% 2 W | 2015.06.01.

_ 3 = e ——

He o | ose | osw SAMCHUL LY
115 @ A3 = ElE MANNERY eaLTR.




6—-M20xP2.5

SERRATION PITCH 3pX60°

9457

62
135 69
.~ 5 6
2 450
[ i g 3-M10 TAP DP. 20
o=z ——H
T |
| w1 Hill \ |« Eiﬁ
o A\ N=gY
. 2 R
. 1. 3 o
E—— ===l
| | | Ie) /
M175x° 3.0 = wole 1S $15.2
- L——— 4l N
: E ”5
] < =
=F 0
+ N
/ \
o~ [Te)
o | >
. =8 Risp, o o
b S 207\
o 44 Ip - = %
- <o) (@)} N
o 0| ™~ % o _ N
- sl s 2T
= ASS
M6 TAP DP. 9 - ~
~ ~
// \\ ©
P ~ -]
P SN o)
7 ~
| | /// /// \\\ \\\
= Z 2 DN S
T I_F _'— // \\
25 i /// \\\
STROKE - h
_ - \
J— o~ L~ —4
ASS >
S
/ ‘&’\\ S
a \\\\ \
[ \
i
}
9 |
N | /
65
6—M20x130L
2-M16 TAP DP. 30
LH 2
PLUNGER STROKE 25 mm
JAW STROKE (X2) | 115 mm = H - [+ A - 58 =
PLUNGER 5l =2 o = = = =
5 71KN (7,240 kgt ) = =2 X2 =D S0rH L= R
0 Ot 180KN (18,355 kgf)
R 2,000 r.p.m c d MH-218-WE A2 H
Z2H(SOFT JAW 22) | 170 kaf s u =
i e 2 32+
GD'(SOFT JAW 2%) | 17.8 kgf-m = Nundi
D BAE Ipe 72KN (7,342 kgf) A= SAMCHULLY
A2 CYLINDER SYHL-2816 1:3 & o EHE ERE] mACHNERY COLTD.
M EAE g 24 kg/em’




SERATION PITCH 3.0

Sl

30°
3—-Mle TAP DP. 30
i 1
MI80xP3.0 | \
O X/
€@}
i i )
(¢ @)
I g’ Olo T
N[
R (&)
(@]
[
H L
i \ 3 \ !
M 1=} Lo Lo R
MAX| 11 | ™I 8)
—|©
§ MIN =12 —|o
?G > |=
< |=
ol L o w 0 ==
Mo O W © 1 Y
le) 00 N (@)) e
s| B | = 6 —
s 8 = =
359
| &S
| o NS
Y —]
23 ‘
STORKE) ) S
Y | _ _ ©
E == = = = == m"
Y | —
125 PN
2 o
6 -M22X140 (P
!
1 il .
9
5 o \
—~ 15
25 140 a
c-M16 TAP DP. 30 At ok
PLUNGER STROKE 23 mm
JAW STROKE (Z&) 10.6  mm & | — |3 7 - 22y YT
PLUNGER o1& F= 90KN (9,177 kgf ) £ = A8 =3 QoA LHE A
X ) mpete 220KN (22,460 kgf) — MH—221—WER Y
ESInR-IPSES 1700 r.p.m — T
S (SOFT JAW £3) 228 kgf 3714
GD (SOFT JAW 2%) | 34.7 kgf-m’ M= B = T i
e 90KN (9,214 kgf) il e e T a8 4 [SQ ch,
A2 CYLINDER SYHL-2816
A A g 32 kg/em’




SERRATION PITCH 3.0

2610

6-M22x150L //

+0.036

p380H6 °
$210

MAX M200x3

—_—_——————— e — — — — —/]
f f

60

MAX 105.5

MIN 21.5

80

MAX 20

35

MIN -3

$30

MAX 119.5
MIN

4.2

11

2-M16 TAP DP/ 30
149
A &
PLUNGER STROKE 23 mm
JAW STROKE (&) | 10.6 mm
PLUNGER &2 9OKN (9,177 kgf )

E0) oo 234KN (23,861 kgf)
ESICIPSES 1400 r.p.m
ZZH(SOFT JAW 2&) | 293 kgf

GD’(SOFT JAW &) | 66.4 kgf-m?

2D WS Moty 78KN (7,954 kgf)
AFZ CYLINDER SH-39024

A A g 16.1  kg/cmt

180

[—-— 300
3-M6 TAP DP. 25
© R
>
[ —N_N=— &
®380-2i0,2
N\ ”
W\ 4 %
e ~N
\ o
o
L 2
% O
Hl — | 2 4 — SEY =
g = IS E 7YH SESS
= ¥ MH-224-WEB N
& o g n
329
S au_uaaa .
= SAMCHULLY
1:4 = ol 2 o MACHINERY COLTD.




